## A NOTE ON THE RESTRICTED k-MULTIPARTITION FUNCTION

Mircea Cimpoeaș<sup>1</sup>, Alexandra Teodor<sup>2</sup>

Let  $\mathbf{a} = (a_1, \ldots, a_r)$  be a sequence of positive integers and  $k \ge 2$  an integer. We study  $p_{k,\mathbf{a}}(n)$ , the restricted k-multipartition function associated to  $\mathbf{a}$  and k. We prove new formulas for  $p_{k,\mathbf{a}}(n)$ , its waves  $W_j(n,k,\mathbf{a})$ 's and its polynomial part  $P_{k,\mathbf{a}}(n)$ . Also, we give a lower bound for the density of the set  $\{n \ge 0 : p_{k,\mathbf{a}}(n) \neq 0 \pmod{m}\}$ , where  $m \ge 2$  is an integer.

> Keywords: Integer partition, Restricted partition function, Multipartition

MSC2020: 11P81, 11P83.

#### 1. Introduction

Let n be a positive integer. We denote  $[n] = \{1, 2, ..., n\}$ . A partition of n is a nonincreasing sequence  $\lambda = (\lambda_1, ..., \lambda_m)$  of positive integers such that  $|\lambda| = \lambda_1 + \cdots + \lambda_m = n$ . We define p(n) as the number of partitions of n and for convenience, we define p(0) = 1. This notion has the following generalization:

Let  $k \geq 2$  be an integer. A *k*-component multipartition of *n* is a *k*-tuple  $\lambda = (\lambda^1, \ldots, \lambda^k)$  of partitions of *n* such that  $|\lambda| = |\lambda^1| + \cdots + |\lambda^k| = n$ ; see [1]. We denote  $p_k(n)$ , the number or *k*-component multipartitions of *n* and  $p_k(0) = 1$ .

Let  $\mathbf{a} := (a_1, a_2, \dots, a_r)$  be a sequence of positive integers,  $r \ge 1$ . The restricted partition function associated to  $\mathbf{a}$  is  $p_{\mathbf{a}} : \mathbb{N} \to \mathbb{N}$ ,  $p_{\mathbf{a}}(n) :=$  the number of integer solutions  $(x_1, \dots, x_r)$  of  $\sum_{i=1}^r a_i x_i = n$  with  $x_i \ge 0$ . Note that the generating function of  $p_{\mathbf{a}}(n)$  is

$$\sum_{n=0}^{\infty} p_{\mathbf{a}}(n) z^n = \frac{1}{(1-z^{a_1})\cdots(1-z^{a_r})}, \ |z| < 1.$$
(1.1)

The restricted k-multipartion function associated to **a** is  $p_{k,\mathbf{a}}(n) : \mathbb{N} \to \mathbb{N}, p_{k,\mathbf{a}}(n) :=$ the number of vector solutions  $(x^1, \ldots, x^k)$  of

$$\sum_{j=1}^{k} \sum_{i=1}^{r} a_{i} x_{i}^{j} = n, \text{ where } x^{j} = (x_{1}^{j}, \dots, x_{r}^{j}) \in \mathbb{N}^{r} \text{ for } 1 \leq j \leq k.$$

The aim of the paper is to study the properties of the function  $p_{k,\mathbf{a}}(n)$ , following the methods used in our previous paper [8]. We consider the sequence

$$\mathbf{a}[k] := (a_1^{[k]}, a_2^{[k]}, \dots, a_r^{[k]}), \tag{1.2}$$

where  $\ell^{[k]}$  denotes k copies of  $\ell$ .

<sup>&</sup>lt;sup>1</sup>Associate Professor, Faculty of Applied Sciences, University "Politehnica" of Bucharest, Romania and, Researcher, Institute of Mathematics of the Romanian Academy, Bucharest, Romania, e-mail: mircea.cimpoeas@imar.ro

<sup>&</sup>lt;sup>2</sup>Assistant Professor, Faculty of Applied Sciences, University "Politehnica" of Bucharest, Romania, e-mail: alexandra.teodor@upb.ro

It is easy to see that  $p_{k,\mathbf{a}}(n) = p_{\mathbf{a}[k]}(n)$  and therefore, from (1.1) and (1.2) we have

$$\sum_{n=0}^{\infty} p_{k,\mathbf{a}}(n) z^n = \frac{1}{(1-z^{a_1})^k \cdots (1-z^{a_r})^k}, \ |z| < 1.$$
(1.3)

In Proposition 2.1 we show that

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) := \prod_{i=1}^k \zeta_{\mathbf{a}}(s,w_i) = \sum_{n=0}^\infty \sum_{n_1+\cdots+n_k=n} \frac{p_{k,\mathbf{a}}(n)}{(n_1+w_1)^s \cdots (n_k+w_k)^s}$$

where  $\zeta_{\mathbf{a}}(s, w)$  is the Barnes zeta function (see [2]). In Proposition 2.4 we express  $\zeta_{k,\mathbf{a}}(s, w_1, \ldots, w_k)$ in terms of Hurwitz zeta functions.

Let D be the least common multiple of  $a_1, \ldots, a_r$ . In Proposition 2.5 we note that

 $p_{k,\mathbf{a}}(n) = d_{k,\mathbf{a},rk-1}(n)n^{rk-1} + \dots + d_{k,\mathbf{a},1}(n)n + d_{k,\mathbf{a},0}(n),$ 

is a quasi-polynomial of period D. From this result, we deduce a new expression for  $\zeta_{k,\mathbf{a}}(s, w_1, \ldots, w_k)$  in Corollary 2.6.

In Theorem 3.1 we prove formulas for the periodic functions  $d_{k,\mathbf{a},m}(n)$ .

Using the fact that  $p_{k,\mathbf{a}}(n) = p_{\mathbf{a}[k]}(n)$ , in Theorem 3.2 we prove a formula for  $p_{k,\mathbf{a}}(n)$ . In Proposition 3.3 we show that if a certain determinant is nonzero, then  $p_{k,\mathbf{a}}(n)$  can be expressed in terms of values of Bernoulli polynomials and Bernoulli-Barnes numbers. Using a result from [9], in Corollary 3.4 we show that

$$\lim_{N \to \infty} \frac{\#\{n \le N : p_{k,\mathbf{a}}(n) \not\equiv 0 \pmod{m}\}\}}{N} \ge \frac{1}{k \sum_{i=1}^r a_i},$$

where m > 1 is an integer.

Similarly to  $p_{\mathbf{a}}(n)$  we consider the Sylvester decomposition (see [12], [13] and [14]) of  $p_{k,\mathbf{a}}(n)$  as a sums of "waves", i.e.

$$p_{k,\mathbf{a}}(n) = \sum_{j \ge 1} W_j(k,\mathbf{a},n),$$

where  $W_j(k, \mathbf{a}, n) := W_j(\mathbf{a}[k], n)$ . In Theorem 4.1 we prove a formula for  $W_j(k, \mathbf{a}, n)$ .

The polynomial part of  $p_{k,\mathbf{a}}(n)$  is  $P_{k,\mathbf{a}}(n) := W_1(k,\mathbf{a},n)$ . In Theorem 4.2 and Theorem 4.3 we prove new formulas for  $P_{k,\mathbf{a}}(n)$ .

#### 2. Preliminary results

Let  $r \ge 1$  and  $k \ge 2$  be two integers. Let  $\mathbf{a} = (a_1, \ldots, a_r)$  be a sequence of positive

integers. Let D be the least common multiple of  $a_1, \ldots, a_r$ . For  $0 \le j_1 \le \frac{D}{a_1} - 1$ ,  $0 \le j_2 \le \frac{D}{a_2} - 1$ ,  $\ldots, 0 \le j_r \le \frac{D}{a_r} - 1$  let, by Euclidean division,  $\mathfrak{q}(j_1, \ldots, j_r)$  and  $\mathfrak{r}(j_1, \ldots, j_r)$  be the unique integers such that

$$a_1 j_1 + \dots + a_r j_r = \mathfrak{q}(j_1, \dots, j_r) D + \mathfrak{r}(j_1, \dots, j_r), \quad 0 \le \mathfrak{r}(j_1, \dots, j_r) \le D - 1.$$
 (2.1)

We denote the rising factorial by  $x^{(r)} := (x+1)(x+2)\cdots(x+r-1), x^{(0)} = 1$ . It holds that

$$\binom{n+r-1}{r-1} = \frac{1}{(r-1)!} n^{(r)} = \frac{1}{(r-1)!} \left( \binom{r}{r} n^{r-1} + \dots + \binom{r}{2} n + \binom{r}{1} \right), \quad (2.2)$$

where  $\binom{r}{k}$ 's are the unsigned Stirling numbers of the first kind.

Let w > 0 be a real number. The Barnes zeta function associated to **a** and w is

$$\zeta_{\mathbf{a}}(s,w) := \sum_{u_1,\dots,u_r \ge 0} \frac{1}{(a_1u_1 + \dots + a_ru_r + w)^s}, \ Re(s) > r.$$
(2.3)

For basic properties of the Barnes zeta function see [2], [10] and [11].

Let  $w_1, \ldots, w_k > 0$  be some real numbers. We consider the function

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) := \zeta_{\mathbf{a}}(s,w_1)\cdots\zeta_{\mathbf{a}}(s,w_k).$$
(2.4)

Proposition 2.1. We have that

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) = \sum_{n=0}^{\infty} \sum_{n_1+\cdots+n_k=n} \frac{p_{k,\mathbf{a}}(n)}{(n_1+w_1)^s \cdots (n_k+w_k)^s}.$$

*Proof.* For  $1 \le j \le k$ , we have that

$$\zeta_{\mathbf{a}}(s, w_j) = \sum_{n_j=0}^{\infty} \frac{p_{\mathbf{a}}(n_j)}{(n_j + w_j)^s}.$$

So, the conclusion follows from the definitions of  $p_{k,\mathbf{a}}(n)$  and  $\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k)$ .

**Remark 2.2.** Note that, if r = 1 and  $1 \le j \le k$  then

$$\zeta_{\mathbf{a}}(s, w_j) = \sum_{u_j=0}^{\infty} \frac{1}{(a_1 u_j + w_j)^s} = \frac{1}{a_1^s} \sum_{u_j=0}^{\infty} \frac{1}{(u_j + \frac{w_j}{a_1})^s} = \frac{1}{a_1^s} \zeta\left(s, \frac{a_1}{w_j}\right),$$

where

$$\zeta(s,w) := \sum_{n=0}^{\infty} \frac{1}{(n+w)^s}, Re(s) > 1$$

is the Hurwitz zeta function. It follows that

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) = \frac{1}{a_1^{ks}} \zeta\left(s,\frac{a_1}{w_1}\right) \cdots \zeta\left(s,\frac{a_k}{w_j}\right).$$

We consider the set

$$\mathbf{B} := \{ (j_1, \dots, j_r) : 1 \le j_1 \le \frac{D}{a_1} - 1, \dots, 1 \le j_r \le \frac{D}{a_r} - 1 \}.$$

We recall the following result from [4]. Also, we mention that the definition of Stirling numbers is slightly different there; see [5] for more details.

Lemma 2.3. ([4, Lemma 2.2]) We have

$$\zeta_{\mathbf{a}}(s,w) = \frac{1}{D^{s}(r-1)!} \sum_{(j_{1},\dots,j_{r})\in\mathbf{B}} \sum_{k=0}^{r-1} {r \choose k+1} \sum_{j=0}^{k} (-1)^{j} {k \choose j} \times \\ \times \left(\frac{a_{1}j_{1}+\dots+a_{r}j_{r}+w}{D}\right)^{j} \zeta(s-k+j,\frac{\mathfrak{r}(j_{1},\dots,j_{r})+w}{D}).$$

From (2.4) and Lemma 2.3 it follows that:

Proposition 2.4. We have

$$\zeta_{k,\mathbf{a}}(s,w_1,\dots,w_k) = \frac{1}{D^s(r-1)!} \sum_{m=0}^{r-1} {r \brack m+1} \sum_{\ell=0}^m (-1)^\ell {m \choose \ell} \times \\ \times \prod_{i=1}^k \sum_{(j_1^i,\dots,j_r^i)\in\mathbf{B}} \left(\frac{a_1 j_1^i + \dots + a_r j_r^i + w_i}{D}\right)^\ell \zeta(s-m+\ell,\frac{\mathfrak{r}(j_1^i,\dots,j_r^i) + w_i}{D}).$$

**Proposition 2.5.**  $p_{k,\mathbf{a}}(n)$  is a quasi-polynomial of degree rk - 1, with the period D, i.e.

$$p_{k,\mathbf{a}}(n) = d_{k,\mathbf{a},rk-1}(n)n^{rk-1} + \dots + d_{k,\mathbf{a},1}(n)n + d_{k,\mathbf{a},0}(n)$$

where  $d_{k,\mathbf{a},m}(n+D) = d_{k,\mathbf{a},m}(n)$  for  $0 \le m \le rk-1$  and  $n \ge 0$ , and  $d_{k,\mathbf{a},rk-1}(n)$  is not identically zero.

*Proof.* Since  $p_{k,\mathbf{a}}(n) = p_{\mathbf{a}[k]}(n)$ , where  $\mathbf{a}[k] = (a_1^{[k]}, \ldots, a_r^{[k]})$  (see (1.2)), the conclusion follows from the classical result of Bell [3].

**Corollary 2.6.** We have that  $\zeta_{k,\mathbf{a}}(s, w_1, \ldots, w_k) =$ 

$$=\sum_{n=0}^{\infty}\sum_{m=0}^{rk-1}d_{k,\mathbf{a},m}(n)\sum_{\substack{n_1+\dots+n_k=n\\\ell_1+\dots+\ell_k=m}}\binom{m}{\ell_1,\dots,\ell_k}\prod_{j=1}^k\frac{1}{(n_j+w_j)^{s-\ell_j}(1+\frac{w_j}{n_j})^{\ell_j}}.$$

*Proof.* From Proposition 2.1 we have that

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) = \sum_{n=0}^{\infty} \sum_{n_1+\cdots+n_k=n} \frac{p_{k,\mathbf{a}}(n)}{(n_1+w_1)^s \cdots (n_k+w_k)^s}$$

Therefore, from Proposition 2.5 it follows that

$$\zeta_{k,\mathbf{a}}(s,w_1,\ldots,w_k) = \sum_{n=0}^{\infty} \sum_{m=0}^{rk-1} \sum_{\substack{n_1+\cdots+n_k=n\\\ell_1+\cdots+\ell_k=m}} \frac{d_{k,\mathbf{a},m}(n)(n_1+\cdots+n_k)^m}{(n_1+w_1)^s\cdots(n_k+w_k)^s} =$$
$$= \sum_{n=0}^{\infty} \sum_{m=0}^{rk-1} d_{k,\mathbf{a},m}(n) \sum_{\substack{n_1+\cdots+n_k=n\\\ell_1+\cdots+\ell_k=m}} \binom{m}{\ell_1,\ldots,\ell_k} \frac{n_1^{\ell_1}\cdots n_k^{\ell_k}}{(n_1+w_1)^s\cdots(n_k+w_k)^s}.$$

The conclusion follows immediately.

We fix two integers  $N \ge 1$  and we consider the numbers  $f_{N,\ell} = \#\{(i_1,\ldots,i_k) : i_1 + \cdots + i_k = \ell, \ 0 \le i_t \le N-1\}$  where  $0 \le \ell \le k(N-1)$ . (2.5)

It is clear that  $f_{N,\ell}$  is the coefficient of  $t^{\ell}$  of the polynomial

$$f_N(t) = (1 + t + \dots + t^{N-1})^k.$$
(2.6)

Using the binomial expansion, we have

$$f_N(t) = (1 - t^N)^k (1 - t)^{-k} = \sum_{i=0}^k (-1)^i \binom{k}{i} t^{iN} \sum_{j=0}^\infty \binom{j+k-1}{j} t^j.$$
(2.7)

Proposition 2.7. With the above notations, we have that

$$f_{N,\ell} = \sum_{i,j \ge 0, \ iN+j=\ell} (-1)^i \binom{k}{i} \binom{j+k-1}{j}.$$

*Proof.* The conclusion follows from (2.5), (2.6) and (2.7).

#### 3. Main results

We use the notations from the previous section.

**Theorem 3.1.** For  $n \ge 0$  we have that

$$d_{k,\mathbf{a},m}(n) = \frac{1}{(rk-1)!} \sum_{\substack{(\ell_1,\dots,\ell_r)\in\mathbf{C}\\a_1\ell_1+\dots+a_r\ell_r\equiv n(\bmod D)}} \prod_{s=1}^r \sum_{\substack{i_s,j_s\geq 0, \ i_s\frac{D}{a_s}+j_s=\ell_s\\j_s=1}} (-1)^{i_s} \binom{k}{i_s} \times \left(\frac{j_s+k-1}{j_s}\right) \sum_{t=m}^{rk-1} \binom{rk}{t+1} (-1)^{t-m} \binom{k}{m} D^{-t} (a_1\ell_1+\dots+a_r\ell_r)^{t-m},$$
  
where  $\mathbf{C} = \{(\ell_1,\dots,\ell_r) \ : \ 0\leq \ell_1\leq k(\frac{D}{a_1}-1),\dots,0\leq \ell_r\leq k(\frac{D}{a_r}-1)\}.$ 

*Proof.* We consider the set

$$\mathbf{B}[\mathbf{k}] := \{(j_1, \dots, j_{rk}) : 0 \le j_1 \le \frac{D}{a_1} - 1, \dots, 0 \le j_k \le \frac{D}{a_1} - 1, \dots, 0 \le j_{rk-k+1} \le \frac{D}{a_r} - 1, \dots, 0 \le j_{rk} \le \frac{D}{a_r} - 1\}.$$

According to [4, Theorem 2.8] and Proposition 2.5 we have that

$$d_{k,\mathbf{a},m} = \frac{1}{(rk-1)!} \sum_{\substack{(j_1,\dots,j_{rk})\in\mathbf{B}[\mathbf{k}]\\a_1(j_1+\dots+j_k)+\dots+a_r(j_{rk-k+1}+\dots+j_{rk})\equiv n(\text{ mod } D)}} \sum_{t=m}^{rk-1} {rk \\ t+1} \times (-1)^{t-m} {k \choose t} D^{-t} (a_1(j_1+\dots+j_k)+\dots+a_r(j_{rk-k+1}+\dots+j_{rk}))^{t-m}$$
(3.1)

$$\times (-1)^{r} m \binom{D}{m} D \binom{a_1(j_1 + \dots + j_k) + \dots + a_r(j_{rk-k+1} + \dots + j_{rk})^r}{m} m.$$
(3.1)  
e let  $\ell_1 := j_1 + \dots + j_k, \ \ell_2 := j_{k+1} + \dots + j_{2k}, \dots, \ \ell_r = j_{rk-k+1} + \dots + j_{rk}.$  It is clear that

We let  $\ell_1 := j_1 + \dots + j_k$ ,  $\ell_2 := j_{k+1} + \dots + j_{2k}, \dots, \ell_r = j_{rk-k+1} + \dots + j_{rk}$ . It is clear that  $(j_1, \dots, j_{rk}) \in \mathbf{B}[\mathbf{k}]$  implies  $(\ell_1, \dots, \ell_r) \in \mathbf{C}$ . Since the cardinality of the set

$$\{(j_{ks-k+1},\ldots,j_{ks}) : j_{ks-k+1}+\cdots+j_{ks}=\ell_s, \ 0 \le j_t \le \frac{D}{a_s} \text{ for } ks-k+1 \le t \le ks\}$$

is  $f_{\frac{D}{\alpha_s},\ell_s}$ , the conclusion follows from (3.1) and Proposition 2.7.

**Theorem 3.2.** For  $n \ge 0$  we have that

$$p_{k,\mathbf{a}}(n) = \frac{1}{(rk-1)!} \sum_{\substack{(\ell_1,\dots,\ell_r)\in\mathbf{C}\\a_1\ell_1+\dots+a_r\ell_r\equiv n(\bmod D)}} \prod_{s=1}^r \sum_{\substack{i_s,j_s\geq 0, \ i_s\frac{D}{a_s}+j_s=\ell_s\\j_s}} (-1)^{i_s} \binom{k}{i_s} \times \binom{j_s+k-1}{j_s} \prod_{t=1}^{rk-1} \left(\frac{n-a_1\ell_1-\dots-a_r\ell_r}{D}+t\right),$$

where  $\mathbf{C} = \{(\ell_1, \dots, \ell_r) : 0 \le \ell_1 \le k(\frac{D}{a_1} - 1), \dots, 0 \le \ell_r \le k(\frac{D}{a_r} - 1)\}.$ 

*Proof.* The proof is similar to the proof of Theorem 3.1, using [4, Corollary 2.10] and Proposition 2.7.  $\Box$ 

The *Bernoulli polynomials* are defined by

$$B_n(x) = \sum_{k=0}^n \binom{n}{k} B_{n-k} x^k.$$

For  $\mathbf{a} = (a_1, \ldots, a_r)$ , the Bernoulli-Barnes numbers (see [2]) are

$$B_{j}(\mathbf{a}) = \sum_{i_{1}+\dots+i_{r}=j} {j \choose i_{1},\dots,i_{r}} B_{i_{1}}\dots B_{i_{r}} a_{1}^{i_{1}}\dots a_{r}^{i_{r}}.$$
(3.2)

From (1.2) and (3.2) it follows that

$$B_{j}(\mathbf{a}[k]) = \sum_{i_{1}+\dots+i_{rk}=j} {j \choose i_{1},\dots,i_{rk}} B_{i_{1}}\dots B_{i_{rk}} a_{1}^{i_{1}+\dots+i_{k}}\dots a_{r}^{i_{rk-k+1}+\dots+i_{rk}} = \\ = \sum_{\ell_{1}+\dots+\ell_{r}=j} {j \choose \ell_{1},\dots,\ell_{r}} a_{1}^{\ell_{1}}\dots a_{r}^{\ell_{r}} \sum_{i_{1}+\dots+i_{k}=\ell_{1},\dots,i_{rk-k+1}+\dots+i_{rk}=\ell_{r}} {\ell_{1} \choose i_{1},\dots,i_{k}} \times \\ \times \dots {\ell_{r} \choose i_{rk-k+1},\dots,i_{rk}} B_{i_{1}}\dots B_{i_{rk}}.$$
(3.3)

We consider the  $rkD \times rkD$  determinant:

$$\Delta(r,k,D) := \begin{vmatrix} \frac{B_1(\frac{1}{D})}{1} & \cdots & \frac{B_1(1)}{1} & \cdots & \frac{B_{rk}(\frac{1}{D})}{rk} & \cdots & \frac{B_{rk}(1)}{rk} \\ \frac{B_2(\frac{1}{D})}{2} & \cdots & \frac{B_1(1)}{1} & \cdots & \frac{B_{rk+1}(\frac{1}{D})}{rk+1} & \cdots & \frac{B_{rk+1}(1)}{rk+1} \\ \vdots & \vdots & \vdots & \vdots & \vdots & \vdots & \vdots \\ \frac{B_{rkD}(\frac{1}{D})}{rkD} & \cdots & \frac{B_{rkD}(1)}{rkD} & \cdots & \frac{B_{rkD+rk-1}(\frac{1}{D})}{rkD+rk-1} & \cdots & \frac{B_{rkD+rk-1}(1)}{rkD+rk-1} \end{vmatrix} .$$
(3.4)

**Proposition 3.3.** If  $\Delta(r, k, D) \neq 0$  then  $p_{k,\mathbf{a}}(n)$  can be expressed in terms of  $B_j\left(\frac{v}{D}\right)$  where  $1 \leq v \leq D$  and  $1 \leq j \leq rkD + rk - 1$ , and  $B_j(\mathbf{a}[k])$  with  $rk \leq j \leq rkD + rk - 1$ .

*Proof.* According to [6, (1.8)], we have that

$$\sum_{m=0}^{rk-1} \sum_{v=1}^{D} d_{k,\mathbf{a},m}(n) D^{n+m} \frac{B_{n+m+1}\left(\frac{v}{D}\right)}{n+m+1} = \frac{(-1)^{rk} n!}{(n+rk)!} B_{rk+n}(\mathbf{a}[k]) - \delta_{0n},$$
(3.5)

where  $\delta_{0n} = \begin{cases} 1, & n = 0\\ 0, & n > 0 \end{cases}$ .

Taking n = 0, 1, ..., rkD - 1 in (3.5) and seing  $d_{k,\mathbf{a},m}(n)$ 's as unknowns, we obtain a linear system of type  $rkD \times rkD$ , whose determinant is  $\Delta(r,k,D)$ . Therefore, if  $\Delta(r,k,D) \neq 0$ , then  $d_{k,\mathbf{a},m}(n)$ 's are the solutions of the above system. Since, by Proposition 2.5, we have

$$p_{k,\mathbf{a}}(n) = d_{k,\mathbf{a},rk-1}(n)n^{rk-1} + \dots + d_{k,\mathbf{a},1}(n)n + d_{k,\mathbf{a},0}(n)$$

we get the required result.

We end this section with the following nice corollary of a result from [9].

**Corollary 3.4.** If m > 1 is a positive integer, then

$$\lim_{N \to \infty} \frac{\#\{n \le N : p_{k,\mathbf{a}}(n) \not\equiv 0 \pmod{m}\}}{N} \ge \frac{1}{k \sum_{i=1}^r a_i}$$

*Proof.* It follows from the fact that  $p_{k,\mathbf{a}}(n) = p_{\mathbf{a}[k]}(n)$  (see (1.2)) and [9, Theorem 5.2].  $\Box$ 

### 4. The polynomial part and the waves of $p_{k,\mathbf{a}}(n)$

Let  $\mathbf{a} = (a_1, \ldots, a_r)$ . Sylvester [12, 13, 14] decomposed the restricted partition function  $p_{\mathbf{a}}(n)$  in a sum of "waves",

$$p_{\mathbf{a}}(n) = \sum_{j \ge 1} W_j(n, \mathbf{a}), \tag{4.1}$$

where the sum is taken over all distinct divisors j of the components of  $\mathbf{a}$  and showed that for each such j,  $W_j(n, \mathbf{a})$  is the coefficient of  $t^{-1}$  in

$$\sum_{0 \le \nu < j, \ \gcd(\nu, j) = 1} \frac{\left(\frac{2\pi\nu a_1 i}{j}\right)^{-\nu n} \cdot e^{nt}}{(1 - e^{-a_1 t + \frac{2\pi\nu a_1 i}{j}}) \cdots (1 - e^{-a_r t + \frac{2\pi\nu a_r i}{j}})},$$

where gcd(0,0) = 1 by convention. Note that  $W_j(n, \mathbf{a})$ 's are quasi-polynomials of period j. Also,  $W_1(n, \mathbf{a})$  is called the *polynomial part* of  $p_{\mathbf{a}}(n)$  and it is denoted by  $P_{\mathbf{a}}(n)$ . We define:

$$W_j(n,k,\mathbf{a}) := W_j(n,\mathbf{a}[k]) \text{ for } j \ge 1 \text{ and } P_{k,\mathbf{a}}(n) := W_1(n,k,\mathbf{a}),$$
 (4.2)

the waves, respectively the polynomial part, of  $p_{k,\mathbf{a}}(n)$ .

**Theorem 4.1.** For any positive integer j with  $j|a_i$  for some  $1 \le i \le r$ , we have that:

$$W_{j}(n,k,\mathbf{a}) = \frac{1}{D(rk-1)!} \sum_{m=1}^{rk-1} \sum_{\ell=1}^{j} e^{\frac{2\pi\ell i}{j}} \sum_{t=m-1}^{rk-1} {rk \choose t+1} {t \choose m-1} \times \\ \times \sum_{\substack{(\ell_{1},\dots,\ell_{r})\in\mathbf{C}\\a_{1}\ell_{1}+\dots+a_{r}\ell_{r}\equiv n \pmod{D}}} \prod_{s=1}^{r} \sum_{\substack{i_{s},j_{s}\geq 0, \ i_{s}\frac{D}{a_{s}}+j_{s}=\ell_{s}}} (-1)^{i_{s}} {k \choose i_{s}} {j_{s}+k-1 \choose j_{s}} \times \\ \times D^{-k} (a_{1}\ell_{1}+\dots+a_{r}\ell_{r})^{t-m+1} n^{m-1},$$

where  $\mathbf{C} = \{(\ell_1, \dots, \ell_r) : 0 \le \ell_1 \le k(\frac{D}{a_1} - 1), \dots, 0 \le \ell_r \le k(\frac{D}{a_r} - 1)\}.$ 

*Proof.* The proof is similar to the proof of Theorem 3.1, using [7, Proposition 4.2] and Proposition 2.7.  $\Box$ 

**Theorem 4.2.** For  $n \ge 0$  we have that

$$P_{k,\mathbf{a}}(n) = \frac{1}{(rk-1)!} \sum_{(\ell_1,\dots,\ell_r)\in\mathbf{C}} \prod_{s=1}^r \sum_{i_s,j_s\geq 0, \ i_s\frac{D}{a_s}+j_s=\ell_s} (-1)^{i_s} \binom{k}{i_s} \binom{j_s+k-1}{j_s} \times \prod_{t=1}^{rk-1} \left(\frac{n-a_1\ell_1-\dots-a_r\ell_r}{D}+t\right),$$

where  $\mathbf{C} = \{(\ell_1, \dots, \ell_r) : 0 \le \ell_1 \le k(\frac{D}{a_1} - 1), \dots, 0 \le \ell_r \le k(\frac{D}{a_r} - 1)\}.$ 

*Proof.* The proof is similar to the proof of Theorem 3.1, using [4, Corollary 3.6] and Proposition 2.7.  $\Box$ 

Theorem 4.3. We have

$$P_{k,\mathbf{a}}(n) = \frac{1}{(a_1 \cdots a_r)^k} \sum_{u=0}^{rk-1} \frac{(-1)^u}{(rk-1-u)!} n^{rk-1-u} \sum_{\ell_1 + \dots + \ell_r = u} a_1^{\ell_1} \cdots a_r^{\ell_r} \times \\ \times \sum_{\substack{i_1 + \dots + i_k = \ell_1 \\ i_1 + \dots + i_r = \ell_r}} \frac{B_{i_1} \cdots B_{i_{rk}}}{i_1! \cdots i_{rk}!}.$$

*Proof.* From [4, Corollary 3.11] it follows that

$$P_{k,\mathbf{a}}(n) = \frac{1}{(a_1 \cdots a_r)^k} \sum_{u=0}^{rk-1} \frac{(-1)^u}{(rk-1-u)!} \sum_{i_1+\dots+i_{rk}=u} \frac{B_{i_1} \cdots B_{i_{rk}}}{i_1! \cdots i_{rk}!} \times a_1^{i_1+\dots+i_k} \cdots a_r^{i_{rk-k+1}\dots i_{rk}} n^{rk-1-u}$$

The conclusion follows immediately.

# 5. Conclusions

We proved new formulas for  $p_{k,\mathbf{a}}(n)$ , the restricted k-multipartition function associated to a sequence of positive integers  $\mathbf{a} = (a_1, \ldots, a_r)$  and to an integer  $k \ge 2$ , its Sylvester's waves and, in particular, its polynomial part. Also, we give a lower bound for the density of the set  $\{n \ge 0 : p_{k,\mathbf{a}}(n) \not\equiv 0 \pmod{m}\}$ , where  $m \ge 2$ .

Our methods are suitable for study other (restricted) integer partition functions.

## Acknowledgments

The first author (Mircea Cimpoeaş) was supported by a grant of the Ministry of Research, Innovation and Digitization, CNCS - UEFISCDI, project number PN-III-P1-1.1-TE-2021-1633, within PNCDI III.

## $\mathbf{R} \, \mathbf{E} \, \mathbf{F} \, \mathbf{E} \, \mathbf{R} \, \mathbf{E} \, \mathbf{N} \, \mathbf{C} \, \mathbf{E} \, \mathbf{S}$

- G. E. Andrews, A Survey of Multipartitions Congruences and Identities, In: Surveys in Number Theory. Developments in Mathematics (Diophantine Approximation: Festschrift for Wolfgang Schmidt), vol 17, Springer, New York, NY, 2008.
- [2] E. W. Barnes, On the theory of the multiple gamma function, Trans. Camb. Philos. Soc. 19 (1904), 374–425.
- [3] E. T. Bell, Interpolated denumerants and Lambert series, Am. J. Math. 65 (1943), 382–386.
- [4] M. Cimpoeaş, F. Nicolae, On the restricted partition function, Ramanujan J. 47, no.3 (2018), 565–588.
- [5] M. Cimpoeaş, F. Nicolae, Corrigendum to "On the restricted partition function", Ramanujan J. 49, no.3 (2019), 699–700.
- [6] M. Cimpoeaş, On the restricted partition function via determinants with Bernoulli polynomials, Mediterranean J. of Math. 17, no.2 (2020), Paper No. 51, 19 pp.
- [7] M. Cimpoeaş, Remarks on the restricted partition function, Math. Reports 23(73), no.4 (2021), 425–436.
- [8] M. Cimpoeaş, A note on the number of partitions of n into k parts, U.P.B. Sci. Bull., Series A, Vol.84, Iss.4 (2022), 131–138.
- [9] K. Gajdzica, A note on the restricted partition function  $p_A(n,k)$ , Discrete Math. **345**, no.9 (2022), Paper No. 112943, 16 pp.
- [10] S. N. M. Ruijsenaars, On Barnes' Multiple Zeta and Gamma functions, Advances in Mathematics 156 (2000), 107–132.
- [11] M. Spreafico, On the Barnes double zeta and Gamma function, J. Numb. Theory 129, no.9 (2009), 2035–2063.
- [12] J. J. Sylvester, On a discovery on the partition of numbers, Quart. J. Pure Appl. Math. 1 (1857), 81–85.
- [13] J. J. Sylvester, On a discovery on the partition of numbers continued, Quart. J. Pure Appl. Math. 1 (1857), 141–152.
- [14] J. J. Sylvester, On subinvariants, i.e. semi-invariants to binary quantics of an unlimited order with an excursus on rational fractions and partitions, Am. J. Math. 5, no.1 (1882), 79–136.